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Y3 g | moemR T . &8 |
a—F | fn 4 ik | PERR (kg) % (M) Bl i 2 P (BAL)
V3002 =4 (A7) 14 11,772 1,512 432 432 | B l4kg
31200 [LHE 3 1,706 140 130 130 | B™ 1331
33810 FAEI 10 5, 443 108 108 97 | B 513K
34140  DUZEHIK 25 15, 957 151 130 65| BN 1264
Y3033 AL 95 19, 062 216 216 140 | BW 95kg
36530 HRE 3 1,096 378 378 378 | BN 3kg
37200 L x 98 14 6, 048 432 432 132 | BN l4kg
34800 < & 3 2, 160 86 86 86 | BN 25% v b
39350 AMET 3 691 22 22 22| B 32{8 |
49100 SFF 6 1,188 1,188 1,188 1,188 &N 1A |
2001l 27 L—% 20, 304 432 432 432 | B ATH
71150 | LiE e 2,862 97 97 92 BN 0% |
71160 B (&) 1, 577 22 22 22 | B B3Ry~
39870 Z it 4 1,944 648 540 540 | &M 4kg
30100 75V I A L 10 3,240 | 3,240 3,240 3,240 | B r—= |
30100 72V Z A B 100 14, 040 140 140 140 [R5 1004 |
30300 A& L 50 19, 440 3, 888 3, 888 3,888 | dbiEiE 5=
30300 A% L 100 17,064 | 1,944 1,620 1,620 H[E 104 — 2
33500 T A3 2 1, 426 86 86 651 1848 B
37440 Vb 2 896 896 896 896 FEIR 5 15— %
Y5005 4 7KEA 5 1,534 1;534| 1,534 1,534 K% 1r—= |
31700 ¥y 150 32,400 2,160 2,160 2,160 | = 154 —2 |
31800 (X H AL 8 8, 208 205 205 205 IR & 404% |
31950 HnE 15 4, 806 972 972 918 |t [E 54— A
34300 723 20 9,666 2,592 2,592 2,160 REA 4r—R
34300 729 2L 10 6, 480 3, 240 3, 240 3, 240 | REA 2 —A
34400 k= h S 12 15,552  5,184| 5,184 5,184 |BEA 3r—=x
34460 I =L E & M 5 4, 147 173 173 173 | EIR A 245y |
34100 /I 2L 15 12, 960 4,320 4,320 4,320 HEA 37—z |
34100 #/K L 5 3,888 3,888 3,888 3,888 Hif 1r—=
34200 {5/ 40 14,256 |  3,564| 3,564 3,564 |dtiEH ar—= |
36200 fE&nE 2L 110 22,032 2,052 2,052 1,944 | db¥EE 14—z
37200 L x 9 A 2L 8 2,268 1,188 1,188 1,080 dE o —2 |
33400 L ¥ 2 6 3,780 3,780 3,780 3,780 EIF 1r—= |
33400 L& X 18 9,072 281 238 238 | £ I 36/ 1
33410 H=—L X R S 8 1,393 54 32 32| & 39(#
33420 ZU—2Y—TLFZR L 3 3,564 3,564 3,564 3,564 fE[H 17— %
133300 Tmy =y — 5 2, 624 162 151 1517 A0 5 17 B
38100 LW 6 7,716 130 130 130 | &I 60/% > 7
31310 AP 4 3, 456 173 s 173 &M 204%
31500 /MASE 12 9, 288 162 151 151 |EERB 6048
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a—F g itk | BER &% () = hE | e | PE (BAL)
32500 AoiX 1 1,512 1,512 1,512 1,512 | K% 17—
32500 Ao 1 864 86 86 K4y 103K
37560 |BIRIE 1 3,132 432 432 K5y 85y
38400 ZDEFH 15 5, 508 1,836 1,836 Eif 37—
38400 ZDEFH 10 2, 700 27 27 EIf 1004
38521 SRR LOUHE 3 1,782 76 76 e 3048
40100  FA 25 4,212 1, 404 864 IR 54— A
40100 HA M 40 9,396| 2,376 2,376 FEAR 4 — 2
40100 HhA S 20 6, 480 3,240 3,240 REK 24— A
40100 | 23 A 2S 5 1,620 1,620 1,620 = 17 —2A
40400  BAERM A A S 60 14, 148 2,376 2,376 RER 64—
42133 vF ) AL —h 20 6, 696 3, 348 3, 348 B 24— A
42830 HU VYo 10 6, 480 6, 480 6, 480 HH 17 —2A
43610 EHMNX 3L 6 1, 296 648 648 & 24—
Y4020 FE72 U 53 18, 468 3,024 3, 024 FOEk L T4 —2Z
45000 &S &9 3, 024 1,512 1,512 BERE 24—
45390 HZERE R LS 2L 1,728 1,728 1, 728 (L% 14—z
Y4044 Y A ET L % 2, 700 1, 404 1, 404 IR 24— A
49100 ) F 60 9, 180 2, 700 1, 404 =T RV 55—
49200 S T v T 20 2, 041 119 119 74Uy 18(#

aiat 1,272 430, 033




